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Candidates are required to give their answers in their own words
as far as practicable.

NGRS TSIy AT [T |

TETT (T AS Teawfer (1-25) TrEe

NGO R G RS EER G

1x25

(1) W[ el (2) T @IS Te (3) FEF & |
. BT NE ARG A IS 26

(1) <) e efeiael (2) el fore (3) <fom Te =7 |
. ARG ABGICSCE AT =e

(1) 78.08% (2) 90.01% (3) 86.08% |

(1) TearTe () Raw (3) TeFgm |
. 6T&Ie (Ozone) o1 Tralfore w1 =1

(1) 22 «fgfst (2) 16 GITH= (3) 11 g2
. T2 -9 T 7E

(1) IR & (2) SRS @ (3) ETRvS 2% |
. OIS @oe-11 e a7 e i o ==

(1) lifea &l Fefom (2) el (3) =g |
. Rl e Taw g5 2@

(1) RAD (2) BOD (3) CADI

Please Turn Over



MUS/P(II1)-Environmental Studies-
(Hum./Sc./Mus. Group)/Honours andMajor ( 2 )

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Aerz FEERke @ @ s w13

(1) e Q) TiETET

a3 oEifs @ 9T W 2 Fwg AFE O 61 27
(1) 9= (2) GATERE
fTferfes @m aRme@ey «ife 732

(1) e () =& et
BCF =&

(1) I IISKOSH T8 (2) I FACG TEF
e @Hf ARt FRmfe e

(1) IS a2 (2) I TS
R e i

(1) fa=izs s=ifa (2) 32 W
5 g WEeTe @ TR #ifre =

(1) forg wAfC ey (2) Temgfy
SIffFr=IFE T19 7 TifFe ©f 2o

(1) & Q) NG
‘AR kS RS @It sesfe?

(1) @31-Bip Azl (2) 3-Fp sz
CITeaE (GAba e g 41 =

(1) 2000 AT (2) 2002 AT
AT OITO! WA AT 25

(1) o (2) CepiE
AR SIS wres” [Ree 2o @ &

(1) e 3= =] (2) wieifRme g%

AGSTFL (AT 257G *h el = I
(1) S0 A (2) «. f&. o7

I UL Ble] T =
(1) 1973 AT (2) 1970 A=

(3) |

(3) Az

(3) Gie=ife

(3) IS T

(3) &1 & |

(3) PP

(3) Gxtahe was |

(3) fotertm |

(3) e ¢ Algho 3= |

(3) 2001 >TeT |

(3) T |

(3) 7 et e |

(3) 2 4. eum|

(3) 1975t |



23

24.

25.

26.

27.

MUS/P(III)-Environmental Studies-

( 3 ) (Hum./Sc./Mus. Group)/Honours andMajor
efeiRe e 326 We S 7 TR
(1) 7 73ETs Fek (2) &1 T Q@ ST (3) RS TFwEe |
FQIeT W1E ey oifsmw (KSSP)-a9 At A={fFe zef
(1) BTG ol ST (2) st Bt SNTHIET (3) oot STHIET |
B 2o
(1) 3rgegy (2) 6 ArgeTET TGS SR (3) AOTET 259G |
fraferfie srmamaler 18 03 ~Fe! (@ [3fe/R3fowft fager
@G Efer Teaeite Srad FE (2% 26-30) ¢ 10x5
SRR - S

99 IRF Bl WITARGIF T0E9 A Bega Thold AR 2ol w11 &3 | ARG @i biel 76 Gifl
ARV TSI N A0 41 2T | FITG2 AN 191 (P) AFSITF s1ef! 1 A, P = hpg = 76 x 13.6 x 980
Tize (dyne) J 1013000 Tz a1 1013 ez (mb) | [Kfen St G- IR BT o114 27 | 45° SR
W FSTE AYNETER 571 791 1013 ez | qgre Soifzs Twol ¢ weirmest IRF 5ot faget 63 | Swwo!
@ STl Jfan (AT IRF Blof FC | PTG FTSIC @7 AT AN FHblot 3R ATt GereTel
Tebb17 TS | ARSI bi 005 1025 WeRE @3 2<e1 H8R-geaIted 7R sdfg 950 ffen #15® sz
csit= | ceTtaliferss Anifes fofers fifem apte w3k fAfeq Smrike ARG BItoR egs AL 7% 41 T | GTewy
R Fewefe bis ToT Bfee a1 TG | @uferes 23 Al 22 bivl o @ 27 |

3fe - 1 3 -t T v DR T AR Al T2
3fS - 2 & FER-YITeT o AR bi FATH 1025 Fferra #2® ez a7 |
43S - 3 ¢ IR BI5 P = hpg ANFICE = sloe] 91 = |

SETHRN - %
-G i R IR #ATNIe TR A0 [RoToei@ T=RYe =Ce (] TR | AT Al
GFRRIR OPeIRTETCS SRy SIS CRRH] (A (5T 5 1196 RICZ | SIEICS 650 2er J9f fsl ame i wreef,
AR @2 A/l ITSR (I (G BT R &I 25 *SI<H | ARGIICH IS Gl Y72 T, Mg WG
0.01 (237 | ISTE TG il e e | 7T @- I G i 9= #fFFHe1a g TePjercd
G B AT 6120 1 B | SN ST GBI (0 SR AR Grey, e el @miifieferm gl

Jifainl-3fR e e AITa ey, ITe N @< T 705z | OB (A S0 T SN Sl TUhTE, T (9777
e T1Tel, 93 JFEFIF 3 (@TT (102 | T71 € <431 Tl AfICITH S [ 9279 Fesiaias wAfefs |

Tgf® - 1 3 wfwe GFRI OPISRTTS SARErSIT SIIey SEeie (O (5T (A s TR |
3l - 2 ¢ sifoTeE Twgl e 21 wafag 0.01 @391
3f® - 3 ¢ wineacd 650 T iR gl Tweflin wesfe |

Please Turn Over



|

MUS/P(II1)-Environmental Studies-
(Hum./Sc./Mus. Group)/Honours andMajor ( 4 )

28.

29.

30.

SR - 0
T G G-Sl7H@l FHRTSITE 15° GThRb | Teite 2 Sl+«aid aMfa Ttz | = (*TS 2R 18000
J=F ST 1T FEmRCol IS I TiRSRw AR I 2AfRwITe G 7949 el 40% 39 2w, 94 1%
$-OIANIG] SGTCF eTeIH @AlH 5° GTERTRP 3 2w | &l @b (FIfb T OISt (SREA Feol) g-Slofal Sierra
TR TR 4°-5° GREThRe @ feeT | 2l REfke T e (1860 A (ACs) A~eifeaia 78 g-sls=ia
2R 0.5° (AT 1.5° CTEIPRITE WO (@08 (9 |
43fS - 1 ¢ el areitt s wizemiRTes #ifiid TENA wAfFeR e o @ e |
43fS - 2 ¢ g-wm@ T FEHNTEIE M@ 15° PR |
43f - 3 2 1860 1T (AT <G +(8 G-Sl7f@l &liF 0.5° (ATF 1.5° GEIPRM qCol @R/

SR - 8
ST Bl Ce! ATCE 61 T T (Twister) | GATer #A 6 olaE * ‘Gl (tronada) (AT GTICE,
7 oL TG |
ST B0 &8 IR BLoIfGd AT =9/ | TN T Y F- (0o GO 3F gace AT | It @3
T AT (@RI & 91T ot T AT (W ARG (e 7| I@ATTH I AAfEfon T
RGIYTATIT (T AWM ST TSl G o F(F G3R &5 (SITF g 97T W ANTF | FITHE (39 AT
(TS TF G (P12 TET9L G IR b0 LT, TL T 9110 STof8 &fTe]— i TR 400 fHhE @R
A | 12193 W[ E =70 T G B (A0 AR AL 2bSoIfOTS B ST, O TSIt AE A0S
% = | S G2 GAR FIEE (79 G ATTH [T ©rore T — HeuR W@ 200-500 FoE @R o191
15-25 fof ey =311

3f - 1 2 GTTe *fb =i = ‘@Sl (AT qTIR |
43fS - 2 2 5fitel atws fRem w=w 250-350 = st =301
43fS - 3 2 Gie! o< qgates Serlfed A e |

RN - €
151, o117, @3y ¥R 9. @35 (P. R. Ehrlich and A. Ehrlich) SItaa “#is{TeT=@ @oitzi™«’ (The Population
Explosion) 337 FRTF(9! &I Sipiamer fefitrefs g3t Seaanfafes st =iy i St |
PTG To/F &l Fho AR AT 2o (1) 20 GPikedl (P) x ©Ie GIRTAI@R vz (A) x gyfes
3 G JGAR ARTLT S (T), Sl I=P x A x T.

G2 351 @M RG24 (sl g 2Tarey | A ol TeetE @B sad el AR w9t Efoe e
A G4l Y33 I G3R OF FEL IGH2MITLI ToRTRe (T) 2Ifaca /ol el sifdez F03 | Svizge w@mst &1
TR AR SomeaiEn iy SIEEl ARITTT ARTS! 2NYTF G FAfREIT T BT I IR T 2SI
w2 Wb ST (St (B0 AW | TATEE Abre 95 (Azsifie sitos e Ffeqm s (s P
(R IR GF T GIRNGTER (RIS G217 biof 208 | GePiRnRverd sIte [ees ereld @55l 7 efegisitTa
BJ (replacement level) SR S (F© SRS 2030 ATEA N S IF-REF G sifstatet fg
TR I 60 *e* (@TT 550 @I (ATF €3 TERAITE 900 @IftTs fw AR |




MUS/P(III)-Environmental Studies-
( 5 ) (Hum./Sc./Mus. Group)/Honours andMajor

e - 1 & AR T 2iigfos AR AT o1 1= P x A x T A0l ARICH G151 51 T |
3fe - 2 3 oifvm oo cFra STAIgE AR (A)-97 M Y<R @ 23|
R -3¢ 1=P x A x T #iaelll &M oreisfer cie T2re’ e |

[English Version]

The figures in the margin indicate full marks.
Single Answer type questions (1 to 25)

Write the correct answer of the following questions in the answer script (1 to 25). 1x25

. The example of Lentic water is
(1) Sea water (2) Flowing water of river (3) Pond water.

. Activated Sludge process is linked with
(1) Waste water treatment (2) Noise pollution control (3) Solid waste management.

. The amount of nitrogen in atmosphere is
(1) 78.08% (2) 90.01% (3) 86.08%.

. Jim Corbett National Park is located in

(1) Uttarakhand (2) Bihar (3) Uttar Pradesh.

. Ozone Day is celebrated on
(1) 22nd April (2) 16th September (3) 11th July.

. The source of fly ash is
(1) Agricultural land (2) Thermal power project (3) Hydroelectric project.

. Bharat Stage - II is related to the following :
(1) Automobile emission (2) Noise pollution (3) River pollution.

. The unit of ionizing radiation is
(1) RAD (2) BOD (3) CAD.

‘Sandfly’ is responsible for the following disease :
(1) Kala-azar (2) Typhoid (3) Tuberculosis.

. A species restricted at a particular place is known as

(1) Exotic (2) Endemic (3) Migratory.

. Which one of the following is not a renewable source of energy?
(1) Wind energy (2) Fossil fuel (3) Solar energy.

Please Turn Over



[ MUS/P(II1)-Environmental Studies-

(3) Biochemical factor.
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12. BCF is
(1) Bioconservation factor (2) Bioconcentration factor
13. Which one of the following is an environment friendly agricultural system?
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(1) Use of chemical fertilizer (2) Use of pesticides

Reason behind Minamata disease is
(1) Methyl mercury (2) Ethyl mercury

Sth June is celebrated as
(1) World Environment Day (2) Wetland Day

Vermicomposting is related with
(1) Earthworm (2) Silkworm

Which one of the following categories includes spore bank?
(1) Ex-situ conservation

(2) In-situ conservation

(3) Social and cultural conservation.

The Biodiversity Act in India was implemented in the year
(1) 2000 (2) 2002

The unit for measuring intensity of sound is
(1) Metre (2) Decibel

‘Arabari Model’ in West Bengal is famous for
(1) Joint Forest Management (2) Thermal Power Project

The term ‘hotspots’ in the context of ecology was coined by
(1) Norman Myers (2) A. G. Tansley

Project Tiger in India was launched in the year
(1) 1973 (2) 1970

Which one of the following book is written by Rachel Carson?
(1) The Silent Spring (2) Fall of a Sparrow

Kerala Shastra Sahitya Parishad (KSSP) is related to
(1) Silent Valley Movement

(2) Narmada Bachao Movement

(3) Chipko Movement.

Ecotone is

(1) Ecosystem

(2) Intermediate zone between two ecosystems
(3) Ecological hotspots.

(3) Organic farming.

(3) Lead.

(3) Biodiversity Day.

(3) Ants.

(3) 2001.

(3) Dobson.

(3) Rainwater Harvesting.

(3) E. P. Odum.

3) 1975.

(3) Human Ecology.
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Read the following passage carefully and only write the correct statement/statements
in your answer script (26-30). 10x5

Paragraph - 1

The air pressure is measured on the earth’s surface by the height of the mercury column in the
barometer. Normal air pressure is expressed by a height of 76 cm of mercury column. So the’air
pressure will be computed as P = hpg =76 x 13.6 x 980 dyne or 1013000 dyne or 1013 millibar. The air
pressure varies on the earth’s surface for many reasons. Normal air pressure at sea level at 45 degree
latitude is taken as 1013 mb. The air pressure is controlled by both temperature and water vapour
present in the air. With increasing temperature and humidity the air pressure decreases. So in summer
over the land surface the air pressure is generally low compared to relatively high pressure in winter.
The air pressure may be as high as 1025 mb and in case of severe tropical cyclone the barometric
pressure may even decrease to 950 mb. On global scale there are marked variations of air pressure in
different seasons and different latitudes. We can distinguish different pressure belts over the globe.
These are called permanent or semipermanent pressure belts.

Statement-1 : The air pressure on the earth’s surface is measured with the help of the instrument
barometer.

Statement-2 : At the time of tropical cyclone air pressure may even decrease to 1025 millibars (mb).
Statement-3 : Air pressure is computed by the equation P = hpg.

Paragraph - 2

The forest cover in any landuse is related inversely to the croplands. In general South Asian countries
record less forest area than many other developing countries. India has 650 thousand square kilometer
of land under forest and this comes to nearly 25 per cent of the total land surface. In West Bengal the
forest land cover is low, only 0.01 ha per capita. The role of forests in the ecosystem is well understood.
In landuse planning anywhere in the world suitable actions are taken for afforestation. The forests in
many tropical countries are being cleared for extension of agriculture — particularly plantation agriculture
and commercial farming by the multinational companies in recent years. Such action has caused
degradation of lands, loss of soil fertility and increased soil erosion. Many environmental hazards like
floods and droughts are the consequences of such activities.

Statement-1 : South Asian countries in general have more forest area than many other developing countries.
Statement-2 : In West Bengal forest land per capita is 0.01 hectare.
Statement-3 : India has 650 thousand square kilometer of land under forest.

Paragraph - 3

At present the average global temperature is about 15° C. There has been an increase or decrease in
the temperature of the earth in the past. About 18000 years ago during the last ice-age when the amount
of carbon dioxide in the atmosphere was about 40 per cent less than the present amount the average
global temperature was about 5° C less than the present temperature. About a billion years ago (i.e. the
dinosaur age) the global temperature was 4°-5°C higher than the present value. Actually the global
temperature has increased by 0.5°C to 1.5°C during the period from 1860 (pre-industrial period) to the
current time.
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30.

Statement-1 : During ice age amount of carbon dioxide in atmosphere was more in comparison to present
amount.

Statement-2 : At present the average global temperature is about 15° C.

Statement - 3 : The global temperature has increased by 0.5° to 1.5°C during the period 1860 to the
current time.

Paragraph - 4

In America the tornado is termed as twister. The term tornado has been derived from the Spanish word
tronada, which means thunderstorm.

Actually the tornado is associated with the development of an intense thunderstorm. As the updraft
moves up in a large swells of rising warm air it rotates. If the rotation grows sufficiently intense, it
can turn into a tornado or funnel cloud. Associated with the intense development of thunderstorm
sometimes the base of the cumulonimbus cloud touches the ground surface as a trunk and tremendous
suction results. The funnel cloud spins and moves along the ground for some distance with unusual
wind velocity, even sometimes reaching up to 400 km per hour. Air rushing to fill in the void of low
pressure creates additional fierce, potentially destructive winds. However, the extent of this funnel
cloud or tornado is very limited— only 200-500 m in width and 15-25 km in length.

Statement - 1 : The term tornado has been derived from Spanish word ‘tronada’.
Statement - 2 : The extent of tornado is 250-350 km in length.
Statement - 3 : Tornado is associated with development of intense thunderstorm.

Paragraph - 5

In their book, The Population Explosion, P. R. Ehrlich and A. Ehrlich have summarized the
determinants of environmental degradation algebraically in the following manner : the aggregate
environmental impact (I) of humans is the product of the number of people (P) affluence (A) type of
technology and waste disposal (T), that is: =P x A x T.

This basic formula is readily applicable to rich countries. So far as poor countries are concerned, the
formula should be applied with caution since in those countries the meagre A (affluence) causes
environmentally destructive forms of T (waste disposal). For example, desperately poor farmers in
Ethiopia clear and plough the stoney hillside land, and most of the soil is soon washed away. In the
formula there looms a recurring multiplier, the burgeoning human population (P), that strains the
biosphere’s carrying capacity. Demographers tell us that even if the world’s birth rate was immediately
reduced to replacement level, the demographic momentum of the oncoming pre-adult population would
still cause a 60% increase in world’s population from 550 to 900 crores by around the year 2030.

Statement - 1 : The environmental impact on human society as a whole can be explained with the help of
the equation [=P x A x T,

Statement - 2 : In case of poor countries the level of Affluence (A) is very high.

Statement - 3 : =P x A X T equation is readily applicable to rich countries.



